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com.googlecode.javatips4u.effectivejava.unnecessary. public class
UnnecessaryObjectsSample { public static void main(String[] args) {
long nanoTime = System.nanoTime(). String name = null. for (int |
=0.11t.10000.1) {// CHANGE TO THIS name ="name". }
System.out.printin(System.nanoTime() - nanoTime).// 867987
System.out.printin(name). }} 0 00O 00OO0O0OOOOO
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com.googlecode.javatips4u.effectivejava.unnecessary. import
java.util.Calendar. import java.util.Date. import java.util. TimeZone.
public class BadMutableObjectUsage { private final Date birthDate =
null. // DONT DO THIS! public boolean isBabyBoomer() {//
Unnecessary allocation of expensive object // Here the two Date
objects are immutable. Calendar gmtCal =



Calendar.getinstance(TimeZone.getTimeZone("GMT")).
gmtCal.set(1946, Calendar.JANUARY, 1, 0, 0, 0). Date boomStart =
gmtCal.getTime(). gmtCal.set(1965, Calendar. JANUARY, 1, 0, 0,
0). Date boomEnd = gmtCal.getTime(). return
birthDate.compareTo(boomStart) amp.It. 0. }} 0 0 O O O O
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